
Question 1 

 

 

 

      A              B 

 

              C             D 

 

 

 

 



Question 2             

 

 

A  There are more goats than cows 

B  There are more horses than cows 

C  There are fewer sheep than goats 

D  There are fewer sheep than horses 

 

 

 

 

 

 

 

 

 

 

 



Question 3 

 

A  22    B  38    C  50    D  60 

 

Question 4 

 

 



Question 5 

This table shows Rina’s fitness program for the week: 

 

What was the average (mean) time for the training sessions? 

 

A   50 minutes    B  30 minutes     

C  20 minutes    D  40 minutes 

 

Question 6 

 

 

A   40 minutes    B  52 minutes     

C  65 minutes    D  260 minutes 



Question 7 

 

A school plays netball each year. There are two teams. Here are their results. 

 

 

 

What is the average (mean) difference in points between the two teams over the five seasons? 

A  100    B  150    C  200    D  250 

 

 

Question 8 

 

 

 

A  10    B  11    C  12    D  15 

 

 

 

 



Question 9 

 

 

 

A  63cm    B  64cm    C  65cm    D  66cm 

 

Question 10 

 

 
 

A  The mean is 9 and the median is 10 

B  The median is 9 and the mode is 11 

C  The median is 11 and the mean is 9 

D  The mode is 11 and the median is 14 

 

 

 

 

 

 



Question 11 

 

 

A  mean only          B  mean and median 

C  mean and mode        D  mean and range 

 

 

Question 12 

 

A  the median of her ticket prices 

B  the mean of her ticket prices 

C  the range of her ticket prices 

D  the total cost of her tickets 

 

 

 

 

 

 

 

 

 

 

 



Question 13 

 
 

A  The mean decreases and the mode changes 

B  The mean increases and the mode changes 

C  The mean decreases and the mode does not change 

D  The mean increases and the mode does not change 

 

Question 14 

Students in Mr Finch’s class had a total of $360.00 to spend at the school fete. Each student had on 

average $14.40. How many students are in Mr Finch’s class? 

A  15    B  17    C  23    D  25 

 

Question 15 

Ivan raised $34 or a charity (the highest amount in his class). The rest of the class made a total of $756, 

at an average of $28 per student. How many students are in Ivan’s class? 

A  27    B  28    C  22    D  26 


